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966 FE-FYEL EEEHSEM H20.8.27 10m Y
& BE B B {ff +%8 ik
HEER 0.21 %1 A 18,500 3,885
BHIEES 0.21 %1 A 15,500 3,255
LEEXS 0.21x2 A 13,400 5,628
Bl FLA1 # 1 = 20,150 20,150
HIFLB SR S 0.21 %1 =] 17,600 3,696
Ay PR—ILN\T—BEE 0.21 X1 =] 3,030 636
BEaEarILyy—EiRE 0.21 %1 =] 52,100 10,941
EERTEHELE 0.21 %1 =] 7,328 1,539
HHE 1 = FD16% 7,957
&t 57,687
$66 LXHL 10mY
& HE B B {ff +%8 ik
HEER 0.31 %1 A 18,500 5,735
HHIEEXS 0.31 %1 A 15,500 4,805
LEEXS 0.31x2 A 13,400 8,308
Bl FLA A 1 = 33,950 33,950
HIFLB SR B 0.31 %1 =] 17,600 5,456
Ay PR—ILN\T—BEER 0.31X 1 =] 3,030 939
BEaEar Ly —EiRE 0.31 %1 =] 52,100 16,151
EEBRTEHELE 0.31 %1 =] 7,328 2,272
HHE 1 = FD16% 12,419
&t 90,035
¢p66 EREVYL 10mY
& HE B B {ff +%8 ik
HEER 0.49 x 1 A 18,500 9,065
SHIEES 0.49 x 1 A 15,500 7,595
EEEXS 0.49X 2 A 13,400 13,132
Bl FLA1 # 1 = 50,710 50,710
HIFLg SR B 0.49 x 1 =] 17,600 8,624
A HR—ILNoT— B E 0.49 x 1 =] 3,030 1,485
BEaEar Ly —EiRE 0.49 x 1 =] 52,100 25,529
EBRTEHELE 0.49 X 1 =] 7,328 3,591
HHE 1 = FD16% 19,157
&t 138,887
$66 B 10m4Y
2 HE B B {iff +%8 ik
HEER 0.25 % 1 A 18,500 4,625
HHIEES 0.25 % 1 A 15,500 3,875
EEEXS 0.25x% 2 A 13,400 6,700
Bl FLA AL 1 = 24,890 24,890
HIFLB SR S 0.25 % 1 =] 17,600 4,400
Ay PR—ILN\T—BEE 0.25X 1 =] 3,030 758
BEEar Ly —EiRE 0.25 % 1 =] 52,100 13,025
EERTEHELE 0.25 % 1 =] 7,328 1,832
HHE 1 = FD16% 9,617
&t 69,721
$66 FEE-OHY—F 10mY
& HE B B {iff +%8 ik
HEER 0.33x1 A 18,500 6,105
SHIEEXS 0.33x1 A 15,500 5115
EEEXS 0.33x2 A 13,400 8,844
Bl FLA AL 1 = 33,270 33,270
HIFLg SR S 0.33x1 =] 17,600 5,808
AP ) AV G- L% 0.33x1 =] 3,030 1,000
BEaEar Ly —EinE 0.33x1 =] 52,100 17,193
EEBRTEHELE 0.33x1 =] 7,328 2,418
HHE 1 = FD16% 12,761
&t 92,514




